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1. BEEHOR
(1) ¥EINEE
BEEEERE 994, 627 994, 627 0
BEEEMNR 667 667 0
B - #H5E 993, 960 993, 960 0
SMEE 1,791, 200 7,861,100 A 69,900
LSEXNMEE 7,492, 900 7,564, 800 A 71,900
B2 EZNRE 298, 300 296, 300 2,000
FEINE 105, 000 105, 000 0
LR 1 TH% 105, 000 105, 000 0
SHAMEE 6, 308, 700 6, 304, 240 4, 460
ehEdEMmE 5,968, 700 5,968, 700 0
BAEHEE 340, 000 335, 540 4, 460
ZMEEE 145, 660 145, 660 0
SHNEEE 235, 660 235, 660 0
H=aEe 510, 000 510, 000 0
ZWEMtE 30, 000 50, 000 A 20,000
M EA 10, 000 10, 000 0
ZHE Mt &B 20, 000 40, 000 A 20,000
=2 0 0 0
PEUNAE 185, 453 335, 457 A 150, 004
HURZE 185, 453 335, 457 A 150, 004
(BEIEEE] 16, 160, 640 16, 396, 084 A 235,444
(2) BEEH

- 12,002, 433 12,016, 063 A 13,630
ZEBRMRUVHKEFH 4,815, 259 4,814,238 1,021
BREHRTEIHAEEA 235, 200 235, 200 0
BEINELE 850, 664 850, 664 0
RERXBE 102, 360 102, 360 0
BIEERE 593, 850 592,084 1,766
HER  -FERERE 723, 060 723, 627 A 567
RIS ARE 356, 723 354, 831 1,892
R5E 50, 600 47, 300 3, 300
RiEF 23,138 23,139 A1
He 30, 000 0 30, 000
EL 699, 012 752, 057 A 53,045
RitE 218, 800 218, 800 0
X AEE 95, 000 95, 000 0
MEEEEEXE 826, 521 825,713 808
EHRERE 1,362, 047 1,361,511 536

B mEENE 791, 559 790, 569 990
ATHAR 183, 752 183, 752 0
HE 44, 888 45,218 A 330
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THE 3,374, 861 3,322,262 52,599
HEHRNRUVHKEFH 1,326, 653 1,326, 371 282
BB B HEEA 64, 800 64, 800 0
BEINELE 234, 366 234, 366 0
WREXEE 10, 500 10, 500 0
BIEERE 242,679 239, 941 2,738
HER - RERRE 86, 152 86, 418 A 266
R &K E 82,284 81, 761 523
=55 53, 392 53, 392 0
R 2,802 2, 801 1
RiE 336, 310 286, 057 50, 253
XiLEiEE 127, 500 127, 500 0
EBREEE 375, 258 375, 110 148
B mEENE 111,510 112, 500 A 990
ATHAER 22,248 22, 248 0
FEREE 20, 680 20, 680 0
*E 220, 000 220, 000 0
BHERE 0 0 0
HE 57,727 57,817 A 90
(=& AE) 15,377, 294 15,338, 325 38, 969
[LEARR g R%E) 783, 346 1,057,759 A 274,413
2. BENMEBOE
(1) FEHUREE
(#BE s UnEEst] 0 0 0
(2) BENER
(ZFENERE] 0 0 0
(L HARRH 4 8RS ] 0 0 0
(%251 81 25 8 — AR 1E R B EE 18 Rl 2E ) 783, 346 1,057,759 A 274,413
FEATL. ERBRUVEXER A 80,000 A 80,000 0
(2 BA— A% IE R BA E 1R RE ] 703, 346 977,759 A 274,413
(—RERMEHEES] 43, 873, 601 43, 873, 601 0
(— AR IERBAEHAR TR =) 44,576, 947 44, 851, 360 A 274,413
0 5FIERBIEERBOE
[ BA$E % IE R BA E 1R BE ) 0 0 0
(6 ERBAER T %= ) 0 0 0
(6 EERRBAEHARTE =) 0 0 0
I IEREAEEHIRIRS 44,576, 947 44,851, 360 A 274,413
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